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Perhaps she will go to them - 375525 TN NOTR N1DT

OVERVIEW

The & n3 differentiates that when the (unidentified) %312 goes to the woman the rule
of 217 applies' since he is w*1D; however if the woman goes to the (unidentified)
%312 then the rule of 7¥mn ¥ ¥ ¥12p 93 applies. Moo will first clarify what is
the meaning of going to him or going to her. Then mdoIn will discuss whether the
rule of w197 %2 applies to people.

- 1929 YN KXY PPN TINA IANT DN PINY WIN9
The explanation of the term 17237 >7°X X7IX is that she is going into their houses;
but not merely into the city; for even is she goes to them, but only into the city, it
will not be considered that the M10°X is ¥12p — established —

modIN proves that w1 7107 is not considered ¥12p:
- $137 YU N9T MIMIND 173 NYNIY 117

For it is similar to the case where the meat was found between the butcher

stores, where it is also not considered ¥13p. It is only considered »2p if the person
bought the meat in the store. Similarly here in order to consider it ¥12p, she must enter his house.

mooin offers an additional proof that 9°¥71 7In% is not considered ¥12p:
- £%23 XYM XY 9NN 912D YN RY 2983 799N £ 233 19

And similarly concerning the case of a child who was cast away in the city, it is

not considered 12p since he was not found in the house -
- 955 S¥a UaY (090393 YD a9

And therefore "2 explained that the phrase ‘if they went to her’ means that the

by1a left his house. That is considered w9 X217 (and not 13p). It is not necessary for him to
go to her (outside the city). If he leaves his house, it is considered w19, even if she meets him in
the city.

mooIN asks:

! Most of the people from where the 7¥12 comes are w2. Some however are 01 the woman 7%, The place of
origin of the %12 is where the MoK is 312p. If the %12 leave his place of origin, he is considered w>15 X211 and will
not disqualify the woman. If the woman goes to the place of origin then the 710°X is N¥°2pi 012 and the woman
will be 711727 70K,

? See further 2,70. The question there is concerning the status of this castaway child; is he treated as a YX72” or as an
a"dy. See “Thinking it over’ # 3.
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= 7299 (v 8,20 91 72 P2 92127 9NN ON)

And if you will say that in the second P75 of =11, w°p% w1 challenges -
= 0YI¥AY DOWIN U921 DN DND NYN Y YWTPI RY 9MIND 9INT NIN

That which 11n1 °27 said ‘whoever says to a 7°>v, go and be w7p» for me an
(unspecified) woman (the n>wn did not specify which woman the 5w should be

wTpn), the rule is that the nwn is forbidden to marry any woman in the world’.
We assume that %% was w7pn a woman. Any (other) woman whom the n%wn wishes to marry
now, may be a relative to the woman whom the %% was w7pn; she may be her mother, daughter,
sister, etc. 5" challenges this ruling —

- SmIno 10
from the 71wn of ‘an unspecified ‘nest’’. When the doves fly away from the 0%1p, we
should be concerned that someone else’ may use these birds for their own jp. This is not
permitted; for these doves were already specified for another individual, and one cannot fulfill
his obligation with a 7277 that was already designated for a different obligation. Just as by the
woman we are concerned that the woman he wishes to marry may be related to the woman
whom his m°%w was w7pn, here too let us be concerned that the dove he wishes to use was the one
that flew away from its original 7p.’

The &3 there answers:
= 49937 NYDON %Y NN NN X799 NDT AUN 9 NN 9201

And the X713 there concludes, ‘I am speaking to you about a woman who is not
roaming, and you wish to contradict me from an =9%°X of a j? which is
roaming’. (Mmoo understood the X113 to mean) The woman whom the man wishes to be w7pn
is in her place, she is considered a ¥13p; however the bird was w15 and left its place of m¥°3p. In
the case of w15 we follow the 217, but not in the case of ¥12p. Therefore he is MOKX to marry any

woman for °»7 731 %Y 7¥nn ¥1ap 92, but anyone may use any dove that he finds since w97 92
775 R217n.

4 If, however, it can be ascertained that from the time the 5w left the n>wn, this woman had no unmarried relatives,
then the n7wn may marry her.

> There are certain individuals (y¥m ,n77v a1 ,a1) who are obligated to bring two doves (one 79 and one nXwvn)
for their purification process. These two birds together are called a jp. There are two types of o°p: a nw™o» 1P,
where the owner designated which bird is the nxvn and which is the 77Ww; and a 72100 3p, where the owner did not as
yet designate the birds. The 175 will designate them when he performs the 772y. The mwn 2w and 7 wn nxvn have
different M2y and cannot be intermingled. If one of the birds of a 7mno jp flies away the owner can take another
dove and join it with the remaining dove for his 1. However if it was a nw719» 1, then he must take two new doves
for his 7. He cannot use the remaining dove.

% The concern may be that he himself may find the ‘lost’ bird and use it for a jp of a different obligation, which is
also prohibited.

7 The thrust of the question is that according to *" it will be virtually impossible to bring a jp. There is always the
concern that it flew away from another previously designated jp.
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The x2n3 there continues:
= WP NINIYN NXPIYIA 2I) NI NN I

And if you will say, that by Pu17p also, the nown should be permitted to marry
her in a situation where he found her in the marketplace and was w7p» her. In
this situation, seemingly, she is no longer a ¥12p but rather a w19; for she left her place of n¥y°3p
and was NWTIPn in the Pw. Nevertheless, even in this instance he may not marry her, for -

= NPIN%Y NYTH ONN
There, in the case of the woman she returns to her resting place. When she returns
home she is deemed to be a ¥12p. The birds however never return to their (original) place,
therefore they are considered w>75. This concludes the X7n2 in 712,

NIDOIN surmises:
— POMNNY 9117 DIYN YWD NI YWII9T DD TV KD DN 22)D ynvun

It seems from that X713, that concerning a person the rule of @12 X212 w57 92

does not apply, since he returns to his ‘resting place’, as that X clearly stated
concerning the woman. She is not considered w>15 even though he was wipn her Pw3, since
(eventually) she is Xmm1? X177, However, here in our X3 it states that if the (suspected) man
leaves his house, he is considered a w19, even though that later he will be nm°1° ~71.8 What is
the difference between our case where the man is considered a w1, and the X71X in 7°71 where
the woman is considered a ¥12p, since X117 817772

n90IN answers:
- YN DIV JY N2 NTYI 90NN NYWI ONNT NOD NIYD INDY

And there is no contradiction between the two mn), for there at the time of the
suspected transgression, which means when this 177v»n has relations with any

woman; and we are concerned that perhaps this woman is related to the woman the m°5w was
wTpn, then at that very same time it is possible that —

= HHUN YPPY NYNRND RIMNNY XD
The woman whom the m°>w was w7p» returned to her resting place, and she
retains her my°ap status. The woman, that was m°5wn "y nwTpPn, is the source of the oK.’
Whenever she is ¥12p we consider the 7xmn 9v 781m3 M0°KR like every 1123p. The term XMim1? RT3

¥ It would seem from the beginning of N0 that the question is (also) on the case of 7237 X XX that if she did
not go into the house it is not considered ¥13p even though he is 7°mm1% 777. However the question is (also) certainly
on what the X7m3 states that if 7237 17X 21X it is considered w19, See 7" w o"nn.

? Let us assume that the m>wn wants to marry 7> who has a sister 5n7. We are unsure whether the 15w was wpn
5m. The source of the (possible) MOX is %n", for X2 on her own would be permitted to the n>wn. Ordinarily we
would assume that 211 was not wTpn by the m°5w, since all the women of the world were not wTpn by the oW (save
one). However since there is a possibility that the m°%w was 211 w7pn, and %m0 is now at her my»apn 0pn, then the
rule of ¥12p says that the probability that 57 was wTpn, equals the probability that any of the other women of the
world combined were WTpn. See ‘Thinking it over’ # 1.
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is not concerning the woman whom the n5wn wishes to marry, but rather the woman who was
nwTpn through the m°%w. She may be ¥12p at the time of the M0°X.
$7993 NI 90 NIORY NYWIA NANTININ N 3 XN AN

However here, in our X723, when the unidentified people go to her he is 7571 at

the time of the 919°X. There is no ¥12p at all. We assume that he was w5 from the >217 (>7n)
2 w2. The defining factor is if there is a My 2ap at the time of the (suspected) MoX (regardless
whether later the w»5 will return to his ¥12p status).

SUMMARY

The ¥12 is considered ¥12p only if the 710°X took place in his house.

The concept of M1 X177 is limited to the source of the Mo X at the time of the
To°R. Otherwise it is considered w19, even if after the 70X Awyn it is XML RI7.

THINKING IT OVER

1. Mmoo explains that since the m%wn "y nwTpna WK is XM X777, she is
considered ¥12p and therefore the m>wn is win 992 Mor.'® Seemingly it is not
understood. In the case of M™Mn ywn the source of the MO°X are the n1in. They are
112p. However if something was found outside the n1™Manm, it is 7"Mn regardless that
the N1 are ¥12p, since the meat was w79, The same should apply here. Granted
the nwmpna AWK is 112p, however the other woman was w»19; she was Pyw2 nwTpn.
That v172 should be valid, since she was w>15. What is the difference between
nman ywn and the women?!"!

2. Is there any connection between the opening remarks of m»01n, and the ensuing
question and answer?

3. What would be the ruling if the ?13°n 1s found in a house;12 1s it considered »2p
and he is a XM Y% W” or not?"

10 See footnote # 9.

' See (72%1) v MR 7"90.
12 See footnote # 2.

13 See amw; nox.
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